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@ D ee kS h a ENGLISH - LANGUAGE AND LITERTURE

CLASS-X (RATIONALISED SYLLABUS)

Time allowed: 3 Hrs. Maximum Marks: 80

General Instructions:

1. This paper is divided into two parts: A and B. All questions are compulsory.

2. Separate instructions are given with each section and question, wherever necessary.
Read these instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.

Part -A (40 Marks)

READING (20 marks)
1. Read the passage given below.

1. A youngster quit Facebook in December after spending over three years on the social
networking site. With that one act, he bid a silent adieu to more than 300 contacts that he
had added to his account during the period. Like almost everyone from his “friends’ circle,”
the 20-year—old was a regular on the service; visiting it everyday to post photos and status
updates. But last week, a new feature on Facebook called Timeline forced him to reconsider
the pros and cons of being on the networking site.

2. ‘Everyone has some skeletons in their closet and | am just not comfortable with Facebook
digging up and displaying all the facets of my life on a bulletin board,” says this youngster
who joined the network in July 2007 while he was in Class 11.

3. Facebook, you see, had compressed the time he spent on the site and arranged it in
chronological order. And while he initially liked the new, neatly organised scrapbook-like
feature, he wasn’t happy to reveal posts from the past, those that, until recently, were
hidden under layers and layers of recent updates. Just clicking on a date on the timeline
could transport his friends back in time and enable them to view every embarrassing
comment, link or photo he had posted on his profile.

4. “I think it’s a recipe for disaster,” he says. “In 2007, | had some wall posts, which seemed
appropriate at the time, but now after a lapse of four years, | have moved on and don’t want
them to be openly displayed for all to see.”

5. And he is not alone. Many users, worried about how Facebook activity could possibly affect
their offline lives, are choosing to commit ‘Facebook suicide’. While some have privacy concerns,
others feel that the site that was meant to bring them closer to their friends actually does the
opposite — it reduces their friendship to something superficial.

6. “Poking and liking are not enough to keep a friendship going,” says a business analyst. Having
quit Facebook three years ago, she prefers meeting her ‘real’ friends face-to—face, instead of
reading their trite posts online.

7. “On Facebook, people hype everyday issues including what they ate and where they went on a
daily basis,” says this analyst who continues to use Twitter.
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8. Similarly, an engineering student, quit Facebook last December four years after joining it. One
fine day, he exported all the data from his account into a little zip file and hit the delete button.

9. “I realised that when it came to my friends who really mattered, | could actually keep in touch
with them over the phone or by meeting them in real life,” he wrote on his blog.

On the basis of your understanding of the passage, answer ANY TEN questions

from the twelve that follow. (1x10=10)

1. The feature of Facebook where one can see the posts, the embarrassing comments and thoughts,
photos and links that a person has put on his profile in the past is:

a) create story
b) facebook live
c) timeline
d) messenger
2. According to the passage, the social media:

a) can cause more harm than good.
b) Is just a waste of time.
¢) connects one to real life.
d) provides opportunity to meet people face to face.

3. The feature ‘Timeline’ on Facebook according to passage, forces the youngster to reconsider:
a) meeting friends face to face.
b) increasing use of social media.
c) saving time on social meadia.
d) the advantages and disadvantages of being on Facebook

4. Choose the option that best captures the central idea of the passage from the given quotes.

“What is interesting is
the power and the

So we must try to use
social media in a good
way. "

- Malala Yousafzai

impact of social media...

“The great thing about
social media was how it
gave a voice to
voiceless people."

-Jon Ronson

“Facebook is not your
friend. Itis a
surveillance engine.”
- Richard Stallman

“Social media is
awesome because | can
somewhat paint myself
the way | want people
to see me."

- Kevin Abstract

(1)

()

(3)

(4)

(a) Option (1)
(b) Option (2)
(c) Option (3)
(d) Option (4)

5. Many people are getting out of Facebook as they feel:

(a) addicted to it.

(b) that their facebook activity could affect their real life

(c) they should join Instagram, Whatsapp or Twitter.

(d) poking and liking is not enough

6. The meaning of the word ‘share’ in para 3 is:

(a) liked

(b) timeline
(c) hidden
(d) reveal
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7. Which of the following is OPPOSITE in meaning to the word ‘retained’ as used in the passage?
(a) exported

(b) delete

(c) account

(d) quit

8. Which of the following statements is NOT TRUE in the context of the passage?

(a) People love being poked and liked on Facebook.

(b) People visit social media everyday to post photos and for status updates.

(c) No one prefers meeting ‘real’ friends face—-to—face, instead of reading their trite posts online.
(d) Few think that social media reduces their friendship to something superficial.

9. The phrase “Facebook suicide” refers to get someone:

(a) Poking and liking

(b) quitting facebook as it could affect their real life.
(c) clicking on a date on the timeline

(d) using Twitter

10. Which of the following statements is TRUE in the context of the passage?

(a) Time spent on social media is better than meeting face-to-face.

(b) Social media use could increase the time teens spend together in person.

(c) Stalking, personal attacks, and misuse of information are some of the threats faced by the users of
social media.

(d) Facebook activity does not affect real life.

11. Select the option that makes the correct use of “trite”, as used in the passage, to fill in the blank

space.

(a) At that moment, his words sounded to me.

(b) It was either a or an excellent copy.

(c) Her powers give life and colour to her paintings.
(d) A little air might clear some of the cobwebs.

12. Which of the following can be the most appropriate title for the passage?
(a) social media: a powerful tool

(b) your privacy & facebook

(c) virtual life

(d) facebook friends

Q 2. Read the passage given below.

Home stays initially grew in popularity as a way for language, cultural or student travellers to
immerse themselves in the local culture of a town or city. But in the last few years, thanks in part to
online aggregators that specialize in connecting guests and hosts, the profile of the typical homestay
traveller has changed significantly. As indicated by the research by PhoCus Wright’s U.S. Consumer
Travel Report Sixth Edition while students still account for 29% of homestay guests, nearly half of
all homestay guests travel for leisure.
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Why guests book hornestays | Guests haok homestays to enjoy staying in a home environment, for the location, for
value for money, and the local experience.

Enjoy staying in a home environment 'ﬁ!] 17%

Location f&

Value for Money [y | 14

16%

Local experience @

14%
Learn about different cultures @

Improve language skills ’.

10%

Have stayed in homestays before T@l [ RS
‘t
Meet new people . I
A

Other reason x .

A home stay is an increasingly popular form of accommodation that connects guests with individual
hosts who have opened their homes to travellers. Guests don’t stay in an empty apartment or home,
but instead share the accommodations provided by the homeowner and his or her family. Home
stays are a popular lodging option for consumers of all ages who want a more personalized,
immersive and authentic travel experience. The key to a great homestay experience for both host and
guest is about not only finding the right home, but also the right person. In other words, finding the
right match. While some guests are seeking an immersive and cultural experience, others might
simply want good quality, affordable accommodations in the right location with a host they get along
with. Similarly, some hosts will want to spend hours chatting with guests over a meal while others
will prefer guests who are more independent.

According to research presented in PhoCusWright’s U.S. Consumer Travel Report Sixth Edition: ¢
77% of next-generation travellers chose a home or apartment rental for lodging. The top reasons for
choosing a rental over a hotel include: Homelike amenities * More space « Multiple rooms * Multiple
travellers  Value for money and A perfect fit for millennials Holiday. The homestay traveller is most
likely to be on holiday — 38% of our respondents indicated that they were traveling for leisure.

The graph below depicts the motivations of homestay traveller.

Holiuay C;)J

i H' '-"au

Internship
H I |

[um ..........
Homestay caters to a new breed of traveller, one who places the experlence of the travel over the
price or destination. This traveller is served by a host who recognizes that opening one’s home to

guests is enriching and life-changing.

SOURCE: Homestay.com
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On the basis of your understanding of the passage attempt ANY TEN questions from the twelve that
follow. (1x10=10)

i. In the line “...... thanks in part to online aggregators that specialize in connecting...”, the
word “aggregator” does not refer to...
a. Web based collector of information about a topic
b. Web based banking
c¢. Web based application to gather and provide data
d. Website based communication about a particular topic
ii. According to research presented in PhoCus Wright’s U.S. Consumer Travel Report Sixth
Edition:
a. Almost 50% of home stay guests travel for leisure
b. Almost 50% of home stay guests are students
c. Almost 29% of students travel for leisure
d. Nearly 29% of home stay guests travel for leisure
iii. One of the elements that is important to a home stay is:
a. Guests are required to spend time with owners
b. Guests stay with the homeowners of the house
c. Guests have to cook their own food
d. Guests stay in a cheap place with basic amenities
iv. Rita might have to shift to Goa if she accepts offer for a new job. However, she wants to
experience the culture, meet people, interact with them and get a feel of the place before
she makes the final decision. Which type of accommodation should she stay at?
a. A five-star hotel
b. Hostels
c¢. Home stay
d. Guesthouse
v. Based on your understanding of the passage, choose the option that lists the inherent

qualities of home stays :

1. Provides a unique cultural experience

Allows you to stay alone in an apartment

Provides for an opportunity to stay with a local person

Provides an opportunity to live in great luxury

Offers good quality, affordable living space with the homeowner

vk wN

a. 1.25
b. 1.3.4
c. 1.5.6
d. 135
vi. As per the data of all the people who opt for home stays the ones who like it the most are:
a. Those who travel for fun or education
b. Those who travel for education or business
c. Those who travel for business or events
d. Those who travel for relocation or internship
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vii. Why do guests book home stays? They have certain requirements. Identify the top three in
correct order as per the passage...
a. 1. Homely atmosphere 2. Location of the stay 3. Affordable
b. 1. Ease of access 2.Affordable 3. Homely atmosphere
c. 1. Homely atmosphere 2. Local experience 3. Learn about cultures
d. 1. Affordable 2. Local experience 3. Location of the stay

viii. According to the report what percentage of the people who travel for some type of work
prefer home stay
a. 11
b. 14
c. 3
d. 6
iX. Choose the option that is ‘Not True’ as per the report

a. Home stays are the new alternative of stay for travellers

b. Home stays are affordable and a great option for budget travellers
c. Home stays are often in far corners and there difficult to locate

d. Home stays offer vast space and a home like environment

X. According to the report what percentage of people stay at a homestay to improve their
communication in a particular language
a. 12%
b. 8%
c. 6%
d. 10%
xi. A home stay owner and guest are required to have dinners and long conversations with
each other.
a. True
b. False
c. It depends on the owner and guest
d. Can’tsay
xii. What will be the most appropriate conclusion of the passage?

a. Home stay is the new exciting means of staying

b. Home stays offer a unique travel experience immersed in culture
c. Home stays is a good option to stay only for students
d

. Home stays cannot find ways to accommodate needs of different traveller
LITERATURE (10 marks)

Q3. Read the extracts given below and attempt ANY ONE, by answering the questions that follow.
(5x1)
A.
That is when | joined the African National Congress, and that is when the hunger for my own
freedom became the greater hunger for the freedom of my people. It was this desire for the
freedom of my people to live their lives with dignity and self-respect that animated my life, that
transformed a frightened young man into a bold one, that drove a law-abiding attorney to become
a criminal, that turned a family-loving husband into a man without a home, that forced a life-
loving man to live like a monk. | am no more virtuous or self-sacrificing than the next man, but |
found that | could not even enjoy the poor and limited freedoms | was allowed when | knew my
people were not free. Freedom is indivisible; the chains on anyone of my people were the chains
on all of them, the chains on all of my people were the chains on me.
| knew that the oppressor must be liberated just as surely as the oppressed. A man who takes
away another man’s freedom is a prisoner of hatred; he is locked behind the bars of prejudice and
narrow mindedness. | am not truly free if | am taking away someone else’s freedom, just as surely
as | am not free when my freedom is taken from me.
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i. How did hunger for freedom change Nelson Mandela’s life?
a) He was satisfied with the limited freedom he had.
b) He became fearless.
c) There was no change in his outlook towards life.

d) He enjoyed a well-settled family life.
ii. According to the passage which of the following statement is TRUE ?

a) Mandela emphasised on liberating oneself.
b) The desire for freedom of his people did not change Mandela’s life.
c) A person who snatches freedom of another person lacks humanity.
d) Freedom of an individual is not related to freedom of other people in the society.
iii. Choose the option that lists the set of statements that are NOT TRUE.
1. Nelson Mandela became the first black President of South Africa.
2. South Africa’s freedom was the result of sacrifices of thousands of black people who fought for it.
3. Mandela desired his countrymen to lead a dignified life.
4. A person who exploits another is powerful and courageous.
5. Mandela did not dream of freedom for his countrymen but freedom only for himself.
a)1&2
b)d&5
c)1,3&4
d2&3
iv. Which of these words does ‘law-abiding’ NOT correspond to ?
a) disciplined
b) civilised
c) criminal
d) moral
v. Which of the characteristics is displayed by Nelson Mandela when he says ‘the chains on all of my
people were the chains on me’?
a) patriotic and selfless
b) dictator
¢) indifferent
d)disinterested
OR

The first period was a study period. Maddie tried to prepare her lessons, but she could not put her
mind on her work. She had a very sick feeling in the bottom of her stomach. True, she had not
enjoyed listening to Peggy ask Wanda how many dresses she had in her closet, but she had said
nothing. She had stood by silently, and that was just as bad as what Peggy had done. Worse. She
was a coward. At least Peggy hadn’t considered they were being mean but she, Maddie, had
thought they were doing wrong. She could put herself in Wanda’s shoes.

Goodness! Wasn’t there anything she could do? If only she could tell Wanda she hadn’t meant to
hurt her feelings. She turned around and stole a glance at Peggy, but Peggy did not look up. She
seemed to be studying hard. Well, whether Peggy felt badly or not, she, Maddie, had to do
something. She had to find Wanda Petronski.

i. After thinking about what was written in the letter by Wanda’s father, Maddie decided to

a) forget the way she and Peggy ill treated Wanda.
b) tell Wanda how sorry she felt.

c) do as Peggy would say.

d) apologise to her teacher.
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ii. Choose the option that lists the set of statements that are NOT TRUE according to the given extract.

1. Maddie wished for a chance to apologise to Wanda.

2. Maddie is filled with guilt and regret.

3. Maddie stopped Peggy from playing that dress game with Wanda.

4. Although Maddie never teased Wanda, she did not stop Peggy from doing it.
5. Like Maddie, Peggy too could not continue studying .

a)1,28&4
b)2 & 4
c)3&5
d)1,3&5

iii. Pick the option that correctly classifies fact/s(F) and opinion/s (O)

| feel Wanda’ | - on. Wand A 4 friend At last Maddie regretted
eel Wanda's n my opinion, Wanda s a good frien )
. yop ] g' and decided she would
family should not should have complained to Maddie could have
never stand by those

have moved away her teacher that her stopped Peggy from .

o ) who ill treat anybody.
to a big city. classmates made fun of her. teasing Wanda.

1. [—2 /3. V 4.

a)F-3and 0-1,2 &4

b)F-4and 0-1,2 &3

c)F-1and0-2,3&4

d)F-2and 0-1,3 &4

iv. Which phrase does ‘put oneself in someone’s shoes’ NOT correspond to?
a) Imagine you are in another person's situation

b) Feel if you were in the same situation as a particular person

c) Cannot relate to a particular person

d) See through someone’s eyes

v. Choose the characteristic displayed by Maddie in the above extract.
a) Compassionate

b) Cunning

c) Indifferent

d) Manipulative

Q4. Read the extracts given below and attempt ANY ONE, by answering the questions that follow. (5x1)

(A) Some say the world will end in the fire,
Some say in ice.
From what I've tasted of desire
I hold with those who favour fire.
But if it had to perish twice,
I think | know enough of hate
To say that for destruction ice
Is also great

And would suffice.
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i. The poet uses fire and ice as a symbol of

a) Human desires and hatred b) Hot and cold c) Love and hatred d) Home and the world
ii. The lines are from the poem:
a) Dust of snow by Robert Frost b) Fire and Ice by Robert Frost
c) Amanda by Robin Klein d) Fog by Carl Sandburg
iii. The people of the world think that the world will end in.........cccoceeneenenenecncncnecnnnns
a) Fire and tsunami b) earthquake and cyclone c) melting of glaciers  d) fire or ice
iv. The rhyme scheme of the poem is
a) abaa;ababa b) abab;ababb c) abab;abach d) abaa;abbaa
v. Which word in the poem DOES NOT have a similar meaning to ‘suffice’

a) adequate b) enough c) sufficient d) awake

OR

(B)
I think I would turn and live with animals, they are
So placid and self-contain’d

I stand and look at them long and long.

They do not sweat and whine about their condition,
They do not lie awake in the dark and weep for their sins,
They do not make me sick discussing their duty to God.

i. The poet wants to ‘turn and live’ with animals because the animals are
a) sweat and whine b) weep and stay awake

c) savage and cruel d) satisfied and self-contained

ii. Who weep for their sins?
a) animals b) human beings c) birds d) trees

iii. The word ‘placid’ DOES NOT have a meaning similar to
a) serene b) upset c) calm d) peaceful

iv. State the poetic device used in the lines:
a) Onomatopoeia b) Simile c) Repetition d) Metaphor

v.‘They do not make me sick discussing their duty to God’ means that the animals
a) Do not cry and stay awake complaining about things

b) They have nothing to worry about

c) Do not pray to God or ask God to fulfil their desires like humans.

d) Do not like to be lonely
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GRAMMAR (10 marks)

5. Choose the correct options to fill in the blanks to complete the note about the Sangai Festival of

Manipur. (3x1)
The Manipur Sangai Festival is one of the vibrant festivals ........... (i) in Manipur. This festival ......... (ii) in
the month of November during the year 2010. It ............. (iii) every year since then. This festival celebrates

the art and culture of the state.

@) a) celebrates
b) is celebrated
¢) celebrated
d) was celebrated

(ii) a) was starting
b) started
¢) will start
d) is starting

(iii)  a) was happening
b) has been happening
¢) is happening
d) happened

6. Choose the correct options to fill in the blanks to complete the narration of Chacha Chowdhry’s

conversation with Sabu.

I EARMNED THIS

HACHA 1§ WiHERE \ MO PIE T W TR

=
ARE YO GO
s & oy

SaAEL 11| HAVE
TEMN THOLIS AMD
RUFEES.

I THOLMSHT IPLL
DEFOSIT THOSE
T EhAuranc.

Sabu asked Chacha Chowdhry............... (i) Chacha replied that ............. (ii )ten thousand rupees. He
had thought that he would deposit those in bank. He told that ........... (iii) that money with hard work.
i) a. where he was going

b. where are you going
c. where he went
d. where was he going

ii) a. he was having
b. he had
c. he has
d. he will have

iii) a. I had earned
b. he had earned
¢. he will earn
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d. he was earning

7. Fill in the blanks by choosing the correct options for ANY FOUR of the six sentences given below.

i) You ............. look after your old parents.
a. should
b. can
¢. would
d. may
ii) You will ............ work very hard to stand first.
a. has to
b. have to
¢. could
d. must
iii) | I reach school in time else you will be punished .
a. must
b. should
c. ought to
d. will
iv) We........... pay attention to our studies.
a.will
b.would
c.ought to
d.may
V) He......... not buy a car. He has a motorcycle.
a. need
b. can
c. will
d. may
vi) We .......... make our nation a superpower by the year 2022 as you have the ability to
do so.
a. can
b. may
c¢. would
d. must
Section B
WRITING (2x5= 10 marks)

8. Attempt ANY ONE of the following in 100-120 words. (5 marks)

(A) You are Ashraf/Asma, a resident of Lok Vihar, Madhya Pradesh. Due to closure of academic
institutions in your area because of COVID-19 pandemic, people (students and teachers) are operating
online from their remote locations. The network signals in your colony are quite poor which impacts
the routine functioning of internet, resulting in academic loss.

Write a letter to the Chief Manager (operations) of the data-service provider company (like Airmel or
Vodaclone) expressing your concern and requesting a remedial help in this regard.

OR

(B) As Kapil/Kapila, write a letter to the Mayor of your area about the non-functional street lights of
your colony. State the inconvenience being faced by residents including the threat of theft, eve teasing,
unsafe roads due to potholes, etc.
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9. Attempt ANY ONE of the following in 100-120 words. (5 marks)

(A) The info graphic given below shows the risk of COVID-19 fatalities in different age brackets and
gender.

Write a paragraph analyzing the given data.

MORTALITY RISK RISES WITH AGE

. l Cases | Deaths Fatality rate
Below 40 | 1,911 8 [ | 0.4
H0to60 | 1383 | 33 | 24

Above60 | 773 | 69 |G 8.9
Male 3,091 80 | 2.6

Female 976 29 | 3.0
Total 4067 | 109 R 2.7

Source: Calculated from health ministry data released on Apr 6
| | 'TOT FORMORE INFOGRAPHICS DOWNLOAD Y

Image credit: Times of India

OR
(B) The chart below shows the percentage of unemployment rate in different states of India. Write a
paragraph analyzing the given data, by reporting the features and making comparisons where relevant.

BusinessToday.In
STATE WISE UNEMPLOYMENT RATE

APRIL 2020 (%)

Puducherry 75.8

Tomil Nac [ 29.8
———"

Bihar

Kernataka | 208

Maharashtra |
Andhra Pradesh

Gujarat [
Rajasthan
West Bengal
Kerala

Delhi
Goa
Madhya Pradesh
Assam
Meghalaya
Uttarakhand
Telangana
Chhattisgarh
Punjab
Sikkim
Himachal Pradesh
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LITERATURE
10. Answer ANY TWO questions in 20-30 words each, from (A) and (B) respectively. (2x4=8)

(A) (Any two) (2x2=4)
i) How did Kisa Gautami learn the lesson of life?
ii) With reference to the poem ‘Animals’, explain in brief how personification leads to a

better understanding of this poem?
iii) The students used to ask Wanda about the hundred dresses. Were they seriously
interested in knowing about them, how do you know?

(B) (Any two) (2x2=4)
i) Why did Mme Loisel ‘suffer’ whenever she visited her rich friend? Why was it so?
ii) Why were the two boys surprised?
ii) Why did the joy of the lawyer turn into disappointment when he reached New
Mullion?

11. Answer ANY TWO questions in 40-50 words each, from (A) and (B) respectively. (3x4=12)

(A) (Any two) (3x2=6)
i) How did the narrator get stuck in the storm clouds, and how did he manage to come
out safely?
ii) Valli was a smart as well as a sensitive girl. Explain with reference to the chapter
‘Madam rides the bus’.
ii) The writer has painted a vivid picture of a baker in front of us. Why do you think he
is so enamored with them?
(B) (Any two) (3%2=6)
i) How did the life of Mme Loisel change after attending the party??
ii) What happened after the arrival of Mr Jaffers, the constable?
ii) What do you think of Oliver Lutkins as a person? Give examples from the text?

12. Answer ANY ONE the following in 100-120 words. (5x1)
(A) Valli made the journey to the town and came back successfully.

Imagine the conductor of the bus told his wife about Valli. His wife, a close friend of

Valli’s mother, going by the description understands that the girl was none other than

Valli. Out of concern for the child, she shares the incident with Valli’s mother.

Write a dialogue on this imaginary event, based on your understanding of the characters

of Valli and her mother.

OR
(B) Read the extracts given below and comment on the how the following people helped
humanity.

(a) “Never, never, and never again shall it be that this beautiful land will again
experience the oppression of one by another. The sun shall never set on so glorious a
human achievement. Let freedom reign. God bless Africa!” (Nelson Mandela: Long
Walk to Freedom)

(b) “He who seeks peace should draw out the arrow of lamentation, and complaint, and
grief. He who has drawn out the arrow and has become composed will obtain peace
of mind; he who has overcome all sorrow will become free from sorrow, and be
blessed.” (Sermon at Benaras)

13. Answer ANY ONE of the following in 100-120 words. (5x1)
(A) When the young lawyer went to find Lukins, he was told:
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“Lutkins? I saw him around here about an hour ago. Hard fellow to catch though —
always up to something or other.”
Do you think the speaker is right about Lutkins? Elaborate with the help of examples
from the text.

OR

(B) Read the following quote by Mahatma Gandhi.
“It is health that is real wealth not pieces of gold and silver.”
Justify the quote given above in light of Tricki’s sickness and his recovery to be fit.
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CLASS: X
Time allowed: 3 Hrs. Maximum Marks: 80
Part A 20
Q1. 1x10=10
1. C
2. A
3. D
4. C
5. B
6. D
7. A
8. C
9. B
10.C
11.A
12.B
Q2. | Answer Key

1.B
2.A
3.B
4.C
5.D
6. A
7.A
8. A
9.C
10.D
11.C
12.B

Q3. Literature (Prose extract)

ANSWERS

(A)

i. b) He became fearless.
ii. c) A person who snatches freedom of another person lacks humanity.
iii. b) 4 &5
iv. ¢) Criminal
v. a) Patriotic and selfless
OR
(B)
i. b) tell Wanda how sorry she felt.

ii.c)3&5

iii. b) F-4and 0-1,2 &3

Page [ 1
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iv. c) Cannot relate to a particular person

v. a) Compassionate

Q.4(A)
i. A (Human desires and hatred)

ii. B (Fire and Ice by Robert Frost)

iii. D (Fire or Ice)

iv. A (abaa; ababa)

v. D (awake)

B
i.( : D (satisfied and self-contained)
ii. B (human beings)
iii. B (upset)
iv.  C (repetition)
v. C (Do not pray to God or ask God to fulfil their desires like humans)

Q5

i) celebrated

ii) started
iii) has been happening
Q6
i) where he was going
i) he had
iii) he had earned
Q7
i) should
ii) have to
iii) must
iv) ought to
V) need

vi) can
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Part B (40 marks)

Question Solution Marks
Formal
8. Writing Letter | 1x5=5
e 2 marks for content

[Creation, Application e 2 marks for expression :
and (1 mark-grammatical

accuracy, appropriate words and spellings
Analysis] +

1 mark-cohesion via connecting ideas,

logical

progression & coherence through
relevance of

ideas)

Format Format = 1 mark

1. sender’s address
2. Date (any standardised

format -21.5.20 /21 May Absence of even one aspect shall result in
’20/ 21/5/20 etc.) credit of ¥ marks only.

3. receiver’s address—
mentioned in the Q/
fictitious (receiver’s
address may also be
followed aspects of format.

e An organised format structure is expected.

Full credit of 1 mark requires all listed

by date) e Zero credit if just format is listed without
4. subject letter content
5. salutation

6. complimentary close

9. Writing Analytical Paragraph 1X5=5
Writing
e 3 marks for content
e 2 marks for expression
(1 mark-grammatical
accuracy, appropriate words and spellings
+
1 mark-cohesion via connecting ideas,
logical progression & coherence through
relevance of ideas and style)

Q 10 LITERATURE (20-30 words)
First Flight & Footprints Without Feet Content=1 mark, Expression=1 mark
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( herenckand cohesion+ accuracy)
2x2=4 marks o Dee Sha

Competency applied for : content-

e Stating Minimum 2 rationales
e Depicting Support of/ reference to textual evidence

expression-

e Applying logical progression, using appropriate linking devices (e.g. because/ besides, in order to,
therefore etc.)- cohesion.

e Response relevance for overall sense according to the question attempted coherence.

e Accuracy in use of grammatical structures, vocabulary and spellings

NOTE- Writing in a paragraph recommended. Just listing of points shall result in deduction of marks
allotted for cohesion & coherence.

(A)Any 2 of 3
i) She went from house to house to get a handful of mustard seeds as was asked by Budha. But
there was a condition that nobody should have a lost a loved one in life.
- She came back empty handed because she could not find even a single household where no life

was lost.
- She learnt that death is common to all therefore wise should not grieve for the worldly pain.
i) It helped the poet convey the message in a creative and poetic manner, the human attributes

reflected through animals.

- Asin the lines—‘they are placid and self contained’, ‘they do not sweat and whine’, ‘they do not
lie awake in the dark and weep for their sins’, ‘dissatisfied or demented with mania of owning
things’, ‘do not kneel for one another or someone died a thousand years ago’ etc.

iii) They used to give fake expressions/ gestures while listening to Wanda’s response.

- But made fun of her as soon as she walked away.

- It was a game devised by Peggy because she thought that Wanda was lying.

(B)Any 2 or 3
i) She felt bad about her economic status.
- She would think about elegant dinners and exquisite food, and wanted nice dresses and jewels.
- Visiting her rich friend always left her in despair and disappointment.
i) There were fresh muddy prints on the steps of a house.
- But there was nobody around.
- Out of nowhere new footprints appeared, which got fainter and fainter and finally disappeared.
iii) When he was told to go to New Mullion to serve summons to Oliver Lutkins, he felt happy
to go there.

He expected a simple and serene countryside view at New Mullion.
But sight of muddy streets, rows of wooden shops, painted sour brown or with no paint at all,
broke all his expectations.
11. LITERATURE (40-50 words)
First Flight & Footprints Without Feet Content=2 mark, Expression=1 mark
(Coherence and cohesion+ accuracy)
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2X3=6 marks

Competency applied for : content-

e Stating Minimum 2 rationales
e Depicting Support of/ reference to textual evidence

expression-

e Applying logical progression, using appropriate linking devices (e.g. because/ besides, in order to,
therefore etc.)- cohesion.

e Response relevance for overall sense according to the question attempted coherence.

e Accuracy in use of grammatical structures, vocabulary and spellings

NOTE- Writing in a paragraph recommended. Just listing of points shall result in deduction of marks
allotted for cohesion & coherence.

(A)Any 2 of 3
i) The narrator was heading to England from France in his old Dakota airplane.

- He had planned to reach well in time for breakfast but suddenly the storm clouds came in the way.

- He took the risk and went straight into the clouds.

- Once stuck in the storm clouds everything including the compass, and the radio stopped working in
his old Dakota.

- He did not have enough fuel too.

- Suddenly another black aeroplane appeared in the clouds, without light on the wings.

- lIts pilot guided him through the storm clouds, to land safely on the ground.
ii) Valli was an eight year old girl who had no same age group friends in neighbourhood so she

used to watch the street and gain unusual experiences from it.

- The sight of the bus going to and fro from village to town was the most fascinating thing for her.

- She got so attracted to it that it became an overwhelming desire for her and she meticulously
planned a trip from village to town.

- For this she collected money for the fare and asked discreet questions from the people who travelled
by the bus, regarding the fare and the timings of the bus.

- This way one day she truly materialized her plans and went on a trip to town.

- But this trip taught her many lessons of life, she came across different sorts of people.

- On the way to town she saw a cow was running in front of the bus trying to save its life. On the way
back home that same cow was lying dead on the side of the road, this made her very sad.

- She witnessed a harsh reality of life in this manner.
iii) Bakery used to be a profitable business and the bakers were respected in the society.

- The mixers, moulders, furnace and those who bake breads still exist in Goa.

- Whatever may be the occasion- marriages, or festivals ‘bol’, ‘bolinhas’, and cakes were essential
items for them.

- The kids used to wait for the baker or ‘pader’ as they were called then, to get hold of bread bangles
or sweet bread.

- Each family household bought bread daily.

- The writer’s memories were filled with baker and their lovely gesture for everyone in the Goan
society.

- The bakers used to be their friend, companion, and guide.

D -
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(B) Any 2 of 3

i) For the party she spent a lot of money on the dress and borrowed a necklace from her friend,
to fuel her false pride.

- Unfortunately they lost the necklace while coming back home.

- She didn’t tell her friend and substituted the same with an expensive one bought from the market.

- To buy it they lost their inheritance and took a heavy loan; to repay the same Mr Loisel did overtime
& other jobs and she also resorted to do the daily chores by her.

- It took ten years to clear that debt, but it changed their life completely.

- They gave up their lodgings and she turned from a pretty lady into a hard & crude one.

- Her complexes and a wish to show off, led to loss of youth and unimaginable hardships in life.

i) Griffin tried to run away, leaving his clothes behind.

- The constable was surprised to see a headless man.

- Hetried to get hold of Griffin.

- He was a man of duty and honour.

- Hetried his best to follow the orders.

- Despite getting hits and blows they all went after Griffin.
iii) He was required as a witness to settle a law case, but he had been ignoring the summons.

- The narrator was sent to New Mullion to give the summons to him.

- Oliver was a smart man and befooled the naive narrator.

- He introduced himself as Bill or Magnuson, a hack driver and spent the whole day taking rounds of
the town.

- Oliver posed himself as a friendly person and went on from one shop to another, then took narrator
to his mother also who enjoyed the act and threatened the narrator, who finally went back to city.

- The narrator thought he was being dishonest with the hack driver (Oliver Lutkins) though it turned
out that it was the other way round.

- Oliver was a trickster who had been avoiding the summons all the time, and was successful this time
too.

1x5=5 marks

Content = 3 marks

Expression = 2 marks (1 mark-grammatical
accuracy, appropriate words and spellings + 1
mark-cohesion via connecting ideas, logical
progression & coherence through relevance of

ideas)

Ans. 12

- Extrapolating via dialogue writing
- Accept relevant responses corresponding to the competencies listed for content and expression

Page [ 6

Nurturing Success of Every Child




Competency applied for:

content-

* Response (dialogues) need to be creatively
composed to match the personality of the two
characters from the story

* language included, must correspond to that of
A conversation, and show an understanding of
the common expressions/exclamations
attributed to the characters from the story.
NOTE—Marks to be allotted for creation. No marks to be deducted for lack of appropriacy in the form or
structure involved in a writing task.

The response is to be treated as a literary creation.
Expression-

* Logical progression in developing the
conversation- cohesion

* Response relevance for overall sense

according to the situation chosen - coherence

* Accuracy in use of grammatical structures,
vocabulary and spellings

OR

- Both helped people to come out of difficult situations

- Both worked selflessly

- Both could influence a large no. of people

- Nelson Mandela was a political leader while Buddha was a spiritual leader

- Nelson Mandela led people to fight oppression while Buddha guided people to cope up with their
emotions

- Nelson Mandela contributed for the people of South Africa and Teachings of Buddha guide people
all over the world, even today

Competency applied for:

content-

* Required to display understanding of the
variation of a common aspect, across the
texts. (Movement of response from common
element to the differences.)

« Support of / reference to textual evidence

Expression

Applying logical progression, using
appropriate linking devices (words/phrases
showing comparison/contrast are expected to
be a part of this answer- whereas, on the
other hand, as opposed to etc. as they impact
expression)- cohesion

* Response relevance and an appropriate
conclusion to achieve coherence

* Accuracy in use of grammatical structures,
vocabulary and spellings
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NOTE—Paragraphing recommended. Just listing of points shall result in deduction of 1 mark allotted for
cohesion & coherence.

Ans.13

Lutkins is surely hard to catch.

Fools the young lawyer from as soon as he meets him at the railway station
Takes the young lawyer to several places and shows that Lutkins is hard to catch
Does not reveal his true identity

Competency applied for:

content-

*Required to display clear rationale and evaluation in order to build on the mentioned
statement—Decode the statement; apply it to the response.

*Support of / reference to textual evidence

expression-

*Applying logical progression, using appropriate linking devices (words/phrases showing cause &
effect, emphasis and illustration are expected to be a part of this

answer- therefore, consequently, as revealed by etc. as they impact expression) cohesion
*Response relevance and an appropriate conclusion to achieve coherence

*Accuracy in use of grammatical structures, vocabulary and spellings

NOTE—Paragraphing recommended. Just listing of points shall result in deduction of 1 mark
allotted for cohesion & coherence.

OR

- Tricki’s owner is a wealthy woman
- Tricki is fed well and pampered but the wealth only worsens his health
- The process of regaining health required him to be active, not money

Competency applied for:

content-

*Required to justify the given statement

*support of / reference to textual evidence

expression-

*Applying logical connect to the quote, using appropriate linking devices (words/phrases showing emphasis
sequence etc. are expected to be a part of this answer- as revealed by, initially, later, finally etc. as they
impact expression)- cohesion

*Response relevance and an appropriate conclusion to achieve coherence

*Accuracy in use of grammatical structures, vocabulary and spellings

NOTE—Paragraphing recommended. Just listing of points shall result in deduction of 1
mark allotted for cohesion & coherence.

Page | 8

Nurturing Success of Every Child




Page | 9

Nurturing Success of Every Child




	CBSE Class 10 English Practice Paper 2 - 2020-2021
	CBSE Class 10 English Practice Paper 2 - 2020-2021 - Answers



